)
1l d in context to:
l_:\. Lessening ol intectivily 44 ]
k': ‘\'ﬁl‘\‘liiui;’.tn
» % oy A
22 L our body surl
b. Mucus
d. Gut microtlora
3.
oy, 11 -.'hlJLw:-o\]t-}-‘ formed antibodl
iscvtosis of antibodies d. All of the aboy ccept b
Activation of Tc cells depend upon:
a. Interaction with antigen-MHC class | b. Interaction with antigen-MFC clas:
¢. Cytokines d. Both b and ¢
5. Follicular ll‘};\'al‘ﬁ» 1tic cells that do not express
a. eplors for b. Class I1 M
c. CD28 d. All of the @ ‘
6. Secondary follicles are NOT found in the following
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12.

13.

14.

15.

16.

7s

18.

19.

20.

Why IgD has an extra domain in its structure?

a. Question is wrong b. Because of extra amino acids

¢. Because of an extra B sheets d. Because of intrachain disulphide bond
Secretory component in IgA is derived from a pathway called:

a. Opsonization b. Receptor mediated endocytosis

c. ADCC d. Phagocytosis

Which of the following does not explain antibody structure?
a. 2 f pleated sheets with antiparallel 3 b. Variable domain of 110 amino acids

strands

¢. Domain stabilized by intrachain d. Hydrophobic bonds inside the
disulphide linkage antibody structure

Properdin increases the half-life of:

a. C5b6 b. C4b2b

c. C3bBb d. C3bBb3b

C5 convertase is otherwise:

a. C4b2a3b b. C3bBb3b

¢. Bothaandb d. Clq4b3b

Which of the following does not explain prozone effect?

a. Antibodies which cannot bind to b. Antibodies which are univalent
antigens

¢. Antibodies which are more than d. Antigens which are polyvalent
antigens

How results are analysed in RIA?

a. Measure the number labeled Ag b. To assess the number [ree unlabeled
attached to Ab Ag

¢. To assess the number free labeled Ag  d. None of the above

Reason for less duration needed for graft rejection in secondary response is due to:

a. Production of memory cells during b. Necrosis taking place in a single day
primary response
¢. No vascularization d. Vascularization occurring in a single
day
How C5b of complement activation is involved in type opsonization?
a. Upregulation of CR b. Increase in the generation of C3b
¢. Downregulation of CR . d. Increase production of Abs

Which of the following antigens - TSTA or TATA belong to a normal cell at a particular
stage of development?

a. Tumor cell b. Fetal cell

c. Adultcell d. All of the above
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5.

[ Answer question no.

Explain the structure of lymph node with
mechanism of neutralization of infection in ot

]ushfy your answer. Write in brief Ihe achngy of

Do you think a DTH term is misleading in tiss
justification. An Rh negative woman is carryin,
for the second time. Explain the ensuing immu
medical condition and also suggest measures to
damage. Is there any relation between type Il h
SLE? jushfy your answer with reasons. What is
Ca?* ions in degranulation of basophils and mas :
NKC and antibodies cause destruction of our cells.
anemia. /

Explain the structure of antibodies with help if IgM aﬂ;ﬂ
its function of IgA. An individual was transfused for th
with blood A when his blood type was B leading
rejection. Explain how an immediate response occu

an individual. What will be the result of upregjli atec
Explain how a NK cell acts on a target cell? s

How maternal antibodies give pro
your own language. What was the 1C

What are the findings of H-chain sequencin %@’i
vaccines include adjuvanls. Accordin ou whi
important for any immune response?

is the lmportance of exprmmom f class. '
immune responseagamst s infection
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